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⁄

picking	complet

attention	de	bien	tenir	le	tempo	avec	le	pouce	(main	droite)		
il	fait	un	mouvement	de	balancier	

3	accords						Mi					La				et						Si7							pour	le	couplet
5	accords						La				Si7				et					Sol#m		Do#m		F#m			(en	barrés)			pour	le	refrain						

q=150

Couplet

a										i							m	

p p p

Blowin	in	the	wind										(bob	Dylan)

p p p p p
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A B7 G©‹ C©‹

F©‹ B7 E E

⁄

Refrain

⁄

"Blowin'	In	The	Wind"

How	many	roads	must	a	man	walk	down																									E			A			E
Before	you	cal l 	him	a	man? E			A			B7 	
How	many	seas	must	a	white	dove	sail E			A			E
Before	she	sleeps	in	the	sand? E			A			B7

Yes,	and	how	many	times	must	the	cannonbal ls	fly E			A			E
Before	they're	forever	banned? E			A			B7

The	answer,	my	friend,	is	blowin'	in	the	wind 	E			A			G#		C#m
The	answer	is	blowin'	in	the	wind 	F#m		B7				E	

Yes,	and	how	many	years	can	a	mountain	exist
Before	it's	washed	to	the	sea?
Yes,	and	how	many	years	can	some	people	exist
Before	they're	al lowed	to	be	free?
Yes,	and	how	many	times	can	a	man	turn	his	head
And	pretend	that	he	just	doesn't	see?

The	answer,	my	fr iend,	is	blowin'	in	the	wind
The	answer	is	blowin'	in	the	wind

Yes,	and	how	many	times	must	a	man	look	up
Before	he	can	see	the	sky?
Yes,	and	how	many	ears	must	one	man	have
Before	he	can	hear	people	cry?
Yes,	and	how	many	deaths	wil l 	it	take	'ti l 	he	knows
That	too	many	people	have	died?

The	answer,	my	fr iend,	is	blowin'	in	the	wind
The	answer	is	blowin'	in	the	wind	
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